I AR DL

bx, +cx, =d,
a,x, +b,x, +c,x, =d,
a,X, +bx, +c.x, = d,

Ay Xy + Dy Xy ey Xy =dy

ayXy +byx, =d,



I AR DL

X =(dy-cx,) /b =(5,-¢x,))/ g, & =b, 5 =4,
Xy = (5,-¢,%,)/8,, g =b-aclg,s,=d,-asg
Ay = (5y-c%,)/ g3 g =bi-ay0,1 g, 8y=d-as8,/ g,

X = (Sj —Ck; )/g] (j=19“°9N_1)

J7 g+l
Xy =SN/gN
f=1=L

8 Ebj_a‘c' /gj-lasj =dj_ajsj—1/gj—1 (j=2>N)

Joi-l



3IBE AR DL

1) gl=b1, s1=d1

2) 1=2,NIZDU\T gj, sj Z3KD B

3) xN=sN/gN Z3K& 5

4) jg)N-l .. 1 DIEEIZ xj=(sj-cj xj+1)/gj =K

x (j=1, N) H3KFE-T=!



